SIMULTANEOUS EQUATIONS

Solve the following pairs of equations using algebra:

4a + 3b = 17

4a – 2b = 2

3e – 2f = 11

2e – 2f = 4

6m – 2n = -10

8m – 2n = -16

2x – q = 3

2x + 3q = 23

8x + 2y = -15

8x – 2y = 15

Solve the following simultaneous equations: (the answers may be in fraction form)

Y = 2x + 3

Y = 3x – 1

Y = 8 – x
Y = 12 – 2x
Y = 2x – 3

Y = 3 – 2x
Y = x – 4

Y = 4x + 7

Y = 3x + 5

Y = 5x - 7

Y = x – 3
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y = 2x + 1

TUTORS NOTES ON SIMULTANEOUS EQUATIONS

CAN BE SOLVED SEVERAL DIFFERENT WAYS

EG:
 y = 2x + 6 and y = 8 – x

Y values are the same in both equations so:

2x + 6 = 8 – x

Collect like terms so:

3x + 6 = 8

3x = 2

x = 2
      3

OR IF FORMULA IN DIFFERENT FORMAT:

3x + 4y = 18 and 2x + 5y = 20

Make both y values same by multiplying:

3x + 4y = 18 (x by 5)    15x + 20y = 90

2x + 5y = 20 (x by 4)    8x + 20y = 80

15 – 8 = 7 and 20 – 20 = 0 and 90 – 80 = 10 so 7x = 10

x = 10  or  1 3/7
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MORE TO TRY

4x -  y = 10

2x + 5y = 13

x – y = 15
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2x  + y = -3

6x + y = 17

2x – y = 8

7x + 3y = 10

7x – 3y = -6

2( x + 3y) = 7

x + 2y = 1
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